Efficiency vs Dxy(PV)

S 0.2

05 =20-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_baseline_lowPT
—e— DQM_mkFit_baseline6iter_lowPT
[Efficienc]| —— DQM_mkFit_TT_Retrainv2_WP2_6iter_ep3_lowPT

< 0.5

g
Soa

o

o

efficiency vs dx
o
w

o
© N

| IW

—1—08—06—04 0.2 0 0.2 04 06 08 1
TP dxy(PV) (cm)

0.

Efficiency vs Dz(PV)
0.5

PV)

o

efficiency vs dz
o

o
S N 9O w

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

i

o
)

efficiency vs dz(PV)

o
e

o
»

Ratio

1 -.1.




	Contents
	Page 1


